
News Quiz - April 4, 2023

Name: _______________________________

1. Which of the following is NOT true about the storms that hit the U.S. over the weekend?
a. The storms killed at least 32 people across more than a dozen states.
b. President Biden declared a major disaster.
c. A tornado in Illinois tore the roof off a music venue, killing a man.
d. The storms were the result of a volcanic eruption.
e. Climate change may be responsible for increasing the intensity of such weather events.

2. Which former president is expected to be arraigned in a New York City court Tuesday?
a. Donald Trump
b. George W. Bush
c. Bill Clinton
d. Barack Obama
e. George H.W. Bush

3. Which two companies are planning to merge, creating a business worth an estimated $21 billion?
a. NBA and NFL
b. MLB and NHL
c. WWE and UFC
d. Netflix and Hulu
e. Amazon and Google

4. What is the main reason the Asiatic cheetah went extinct in India in 1952?
a. Forest clearance for settlements and plantations
b. Disease
c. Hunting
d. Competition with other predators
e. Climate change

5. How many cheetah cubs were born on Indian soil in the recent conservation effort?
a. 2
b. 4
c. 6
d. 8
e. 10
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1. Which of the following is NOT true about the storms that hit the U.S. over the weekend?
a. The storms killed at least 32 people across more than a dozen states.
b. President Biden declared a major disaster.
c. A tornado in Illinois tore the roof off a music venue, killing a man.
d. The storms were the result of a volcanic eruption.
e. Climate change may be responsible for increasing the intensity of such weather events.

2. Which former president is expected to be arraigned in a New York City court Tuesday?
a. Donald Trump
b. George W. Bush
c. Bill Clinton
d. Barack Obama
e. George H.W. Bush

3. Which two companies are planning to merge, creating a business worth an estimated $21 billion?
a. NBA and NFL
b. MLB and NHL
c. WWE and UFC
d. Netflix and Hulu
e. Amazon and Google

4. What is the main reason the Asiatic cheetah went extinct in India in 1952?
a. Forest clearance for settlements and plantations
b. Disease
c. Hunting
d. Competition with other predators
e. Climate change

5. How many cheetah cubs were born on Indian soil in the recent conservation effort?
a. 2
b. 4
c. 6
d. 8
e. 10


